
 BIOCLIMATIC 
SYSTEM

 
BİOKLİMATİK 

SİSTEMLERİ



 BİOKLİMATİK SİSTEMLERDE KULLANILAN MOTORLU LAMELLER, AÇILIR-KAPANIR ŞEKİLDE 
TASARLANMIŞTIR. BU LAMELLER, GÜNEŞ IŞIĞINI VE HAVALANDIRMAYI KONTROL ETMEK İÇİN AÇILIP 
KAPANABİLİR. AYNI ZAMANDA YAĞMUR, RÜZGAR VE DİĞER DIŞ ETKENLERE KARŞI KORUMA SAĞLAR.

     UZAKTAN KUMANDA İLE KONTROL EDİLEBİLİR. BU, KULLANICILARIN HAVA KOŞULLARINA ANINDA TEPKİ 
VEREBİLMELERİNİ SAĞLAR.

   SİSTEMLER, GÜNEŞ IŞIĞINI KONTROL EDEREK İÇ MEKAN SICAKLIĞINI DÜZENLER. AYRICA, AÇIK VEYA 
KAPALI KONUMDAYKEN DE GÜNEŞİN ETKİLERİNİ AZALTARAK RAHAT BİR ORTAM SAĞLAR.
        

MOTORIZED SLATS USED IN BIOCLIMATIC SYSTEMS ARE DESIGNED TO OPEN AND CLOSE. THESE 
SLATS CAN BE ADJUSTED TO CONTROL SUNLIGHT AND VENTILATION. THEY ALSO PROVIDE 
PROTECTION AGAINST RAIN, WIND, AND OTHER EXTERNAL FACTORS.

THEY CAN BE CONTROLLED REMOTELY, ALLOWING USERS TO RESPOND INSTANTLY TO WEATHER 
CONDITIONS.

THE SYSTEMS REGULATE INDOOR TEMPERATURES BY CONTROLLING SUNLIGHT. ADDITIONALLY, 
WHETHER OPEN OR CLOSED, THEY REDUCE THE EFFECTS OF SUNLIGHT TO CREATE A COMFOR-
TABLE ENVIRONMENT.

BİOKLİMATİK SİSTEMLERİ BIOCLIMATIC SYSTEMS



       

     SİSTEMLER , MODERN VE ESTETİK TASARIMLARIYLA DİKKAT ÇEKER. BU, KULLANICILARIN AÇIK HAVA ALANLARINI HEM 
FONKSİYONEL HEM DE GÖRSEL OLARAK ÇEKİCİ HALE GETİRMELERİNE OLANAK TANIR.

  MOTORLU LAMELLERİN KONTROLÜ, ENERJİ VERİMLİLİĞİNİ ARTIRABİLİR. ÖRNEĞİN, GÜNEŞLİ GÜNLERDE LAMELLERİ 
KAPATARAK İÇ MEKAN SICAKLIĞINI DÜŞÜREBİLİR VE KLİMA KULLANIMINI AZALTABİLİRSİNİZ.

    SİSTEMLER, DIŞ MEKAN ALANLARINI DAHA KULLANIŞLI VE KONFORLU HALE GETİRMEK İÇİN TASARLANMIŞTIR. İKLİM 
KOŞULLARINA UYUM SAĞLAMA, ENERJİ TASARRUFU VE ESTETİK TASARIM GİBİ AVANTAJLARIYLA POPÜLERDİRLER.

       SYSTEMS DRAW ATTENTION WITH THEIR MODERN AND AESTHETIC DESIGNS. THIS ALLOWS USERS TO MAKE OUTDOOR 
SPACES BOTH FUNCTIONAL AND VISUALLY APPEALING.

       CONTROL OF THE MOTORIZED LOUVERS CAN INCREASE ENERGY EFFICIENCY. FOR EXAMPLE, BY CLOSING THE LOUVERS 
ON SUNNY DAYS, YOU CAN LOWER INDOOR TEMPERATURES AND REDUCE THE USE OF AIR CONDITIONING.

      SYSTEMS ARE DESIGNED TO MAKE OUTDOOR AREAS MORE FUNCTIONAL AND COMFORTABLE. THEY ARE POPULAR FOR 
THEIR ADVANTAGES SUCH AS ADAPTING TO CLIMATE CONDITIONS, ENERGY SAVINGS, AND AESTHETIC DESIGN.

RAL RENK STANDARDINA GÖRE SEÇTİĞİNIZ TÜM 
RENKLER UYGULANABİLİR.

COLOURING OF YOUR CHOICE, ACCORD-
ING TO THE RAL COLOUR STANDARD. 

MATERYAL // 6063 T5 ALÜMİNYUM, PASLANMAZ ÇELIK 
VE DERLIN.

MATERIALS // 6063 T5 ALUMINUM, 
STAINLESS STEEL AND DERLIN.

YAĞMUR VE RÜZGAR GİBİ HAVA ŞARTLARINA SON 
DERECE DAYANIKLIDIR.

IT IS EXTREMELY RESISTANT TO WEATHER 
CONDITIONS SUCH AS RAIN AND WIND.



YAĞMUR VEYA KAR YAĞIYOR OLSA BİLE ALANIN 
HAVALANDIRMASINA İZİN VERİR.

EVEN IF IT'S RAINING OR SNOWING, IT ALLOWS 
FOR THE VENTILATION OF THE AREA.

5°

GÜNEŞ IŞIĞININ KULLANILMASINA 
İZİN VERİR

ALLOWS THE USE OF SUNLİGHT

LAMELLERİN KAPALI KALMASI HER TÜRLÜ
HAVA KOŞULUNDAN KORUMA SAĞLAR.

THE SLATS REMAINING CLOSED PROVIDES PROTECTION 
FROM ALL WEATHER CONDITIONS.

0°



BİOKLİMATİK SİSTEMLER, YAĞMUR SUYUNU TOPLAYACAK 
ŞEKİLDE TASARLANMIŞTIR.SU,PANELLERDEN OLUKLARA

YÖNLENDİRİLİR.TOPLANAN SU DİKME PROFİLİNİN İÇİNDEN
DIŞARIYA AKTARILIR.YAĞMUR SUYUNUN DIŞARI AKTARILMASI
İÇİN OLUK PROFİLİNE VE DİKME PROFİLİNE KERTME İŞLEMİ

UYGULANIR

THE BIOCLIMATIC SYSTEMS ARE DESIGNED TO 
COLLECT RAINWATER. THE WATER IS DIRECTED

FROM THE PANELS TO THE GUTTERS. THE COLLECTED 
WATER IS TRANSFERRED TO THE OUTSIDE THROUGH 

THE VERTICAL PROFILE. TO FACILITATE
 THE DISCHARGE OF RAINWATER, A NOTCH PROCESS 
IS APPLIED TO BOTH THE GUTTER PROFILE AND THE 

VERTICAL PROFILE.

YAĞMUR SUYU DRENAJ SİSTEMİ

RAINWATER DRAINAGE SYSTEM

WATER OUTLET
SUYUN ÇIKIŞI

DIRECTION OF WATER FLOW
SUYUN İNİŞ YÖNÜ

DIRECTION OF WATER FLOW
SUYUN İNİŞ YÖNÜ

PILLAR
DİKME

GUTTER WATER DIRECTION
OLUK SU YÖNÜ

PANEL WATER COLLECTION
PANEL SU TOPLANIŞI

5



ARTMİNYUM BİOKLİMATİK SİSTEMLERİ ORTAK PROFİLLER
ARTMINYUM BIOCLİMATIC SYSTEMS COMMON PROFILES

(CASTOR GOLD,VEGA SILVER,CAPELLA,DIAMOND)

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

OLUK DİKME PROFİLİ
GUTTER BEAM PROFILE

4111

5,721 KG/M

12,613 LB/M

5,721
kg/m

 4111

27
3 2,5

45
[1,771"]

[0,098"]

[1
0,

74
8"

]

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ORTA OLUK DİKME PROFİLİ
MIDDLE GUTTER BEAM PROFILE

4120

7,366 KG/M

16,239 LB/M

7,366 kg/m4120

26
5

90

2

[3,543"]

[1
0,

43
3"

]

[0,079"]

OLUK PROFİLİ
GUTTER PROFILE

4218

3,940 KG/M

8,686 LB/M

4218

3,930kg/m

212

87 2

[8,3464"]

[0,079"]

[3
,4

25
"]

PANEL PROFİLİ
PANEL PROFILE

4109

3,553 KG/M

7,833 LB/M

 4109

3,553kg/m

55

289,89

1,7

[11,413"]

[0,067"] [2
,1

65
"]

4108

5,368 KG/M
11,834 LB/M

AYAK PROFİLİ
PILLAR PROFILE

 4108
5,368
kg/m

16
4

170

2,4
[0,094"]

[6,693"]

[6
,4

57
"]

4122

1,309 KG/M

2,886 LB/M

AYAK KAPAĞI PROFİLİ
PILLAR COVER PROFILE

 4122

1,309
kg/m

170

19
,2
7

2,
3

[6,693"]

[0
,0

90
"]

[0
,7

59
"]

LED PROFİLİ
LED PROFILE

2953

0,445 KG/M

0,981 LB/M

2953
0.445 kg/m

35

35

1,2[0,047"]

[1
,3

78
"]

[1,378"]

6



ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

4128

0,724 KG/M

1,596 LB/M

 4128
0,724
kg/m

71,4

30

1,6 [0,063"]

[2,811"]

[1
,1

81
"]

TEKER ÜST KAPAK PROFİLİ
RAIL COVER PROFILE

4113

2,439 KG/M

5,377 LB/M

 4113

2,439
kg/m

88

72,3

2

[2,846"]

[0,079"]

[3
,4

64
"]

RAY PROFİLİ
RAIL PROFILE

MOTOR KUTUSU PROFİLİ
MOTOR BOX PROFILE

4110

2,317 KG/M

5,108 LB/M

2,317 kg/m
4110

12
7,
54

86

1,8

[3,386"]

[0,071"]

[5
,0

21
"]

CASTOR GOLD(MAKASLI) SİSTEM PROFİLLERİ
CASTOR GOLD(SCISSORS) SYSTEM PROFILES

7

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

1,417 kg/m

4115

5

90

[0,197"]

[7,480"]

ŞAFT PROFİLİ
SHAFT PROFILE

4115

1,417 KG/M

3,124 LB/M

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

MOTOR TÜP BORUSU PROFİLİ
MOTOR TUBE PROFILE

37115

0,992 KG/M

2,187 LB/M

0.992 kg/m

37115

72,5

61
,5 1,5

[2,854"]

[2
,4

21
"]

[0,059"]



ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

TİLT TAHRİK PROFİLİ
TILT DRIVE PROFILE

4118

1,501 KG/M

3,309 LB/M

1,501 kg/m

4118

45
,5

19

3

[0,748"]

[1
,7

91
"]

[0,118"]

VEGA SILVER(TİLTLİ) SİSTEM PROFİLLERİ
VEGA SILVER(TILT) SYSTEM PROFILES

8



ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

CAPELLA(ŞANZIMANLI) SİSTEM PROFİLLERİ
CAPELLA(WITH TRANSMISSION) SYSTEM PROFILES

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ŞAFT PROFİLİ
SHAFT PROFILE

4115

1,417 KG/M

3,124 LB/M

OLUK KAPAK ÖN PROFİLİ
GUTTER COVER FRONT PROFILE

4124

1,862 KG/M

4,105 LB/M

ŞANZIMAN RAY PROFİLİ
GEARBOX RAIL PROFILE

4123

2,228 KG/M

4,912 LB/M

1,417 kg/m

4115

5

90

1,862 kg/m

4124

234,18

2,
89,
44

[0,197"]

[7,480"]

[9,220"]

[0
,1

10
"]

[0
,3

72
"]

MOTOR KUTUSU PROFİLİ
MOTOR BOX PROFILE

4110

2,317 KG/M

5,108 LB/M

2,317 kg/m
4110

12
7,
54

86

1,8

[3,386"]

[0,071"]

[5
,0

21
"]

ARKA SABİT PANEL OLUK PROFİLİ
REAR FIXED PANEL GUTTER PROFILE

4125

1,442 KG/M

3,179 LB/M

1,442 kg/m

4125

132,1

75
,7
5

1,9

[5,201"]

[0,075"] [2
,9

82
"]

2,228 kg/m

4123

106

13
0,
5

2,5

[3,937"]

[0,098"]

[5
,1

38
"]

MOTOR YÖNÜ SABİT PANEL
KAPAK PROFİLİ
FİXED PANEL COVER PROFİLE WİTH 
MOTOR DİRECTİON PROFILE

4114

1,190 KG/M

2,624 LB/M

1,190 kg/m

4114

192,3

32
,8
52

[7,571"]

[0
,0

79
"]

[1
,2

93
"]

HAREKETLİ OLUK PROFİLİ
MOVABLE GUTTER PROFILE

4126

0,962 KG/M

2,121 LB/M

0,962 kg/m

4126

138,09
34

,8
7

1,
8

[0
,0

71
"]

[1
,3

73
"]

[5,437"]

ALT FIRÇA PROFİLİ
BOTTOM BRUSH PROFILE

4127

0,973 KG/M

2,145 LB/M

0,973 kg/m

4127

126

312

[4,960"]

[0
,0

79
"]

[1
,2

20
"]

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

9

4113

2,439 KG/M

5,377 LB/M

 4113

2,439
kg/m

88

72,3

2

[2,846"]

[0,079"]

[3
,4

64
"]

RAY PROFİLİ
RAIL PROFILE



ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

C KANAL PROFİLİ
C CHANNEL PROFILE

4152

1,810 KG/M

3,990 LB/M

İÇ RAY PROFİLİ
INNER RAIL PROFILE

4151

3,862 KG/M

8,514 LB/M

 4152

60

45

3

2
[0,079"]

[0,118"]

[1,772"]

[2
,3

62
"]

ÜRÜN KODU / PRODUCT CODE

AĞIRLIK / WEIGHT

MOTOR BORUSU PROFİLİ
MOTOR TUBE PROFILE

5312

1,000 KG/M

2,205 LB/M

DIAMOND(C KANALLI) SİSTEM PROFİLLERİ
DIAMOND(C CHANNEL) SYSTEM PROFILES

2,046 kg/m

5312

75,4

65
,1 1,4

[2,968"]

[0,055"][2
,5

63
"]

10

4151

3,862
kg/m

114,5

12
02,3

[4,508"]

[4
,7

24
"]

[0,090"]



ARTMİNYUM BİOKLİMATİK SİSTEMLERİ ORTAK AKSESUARLAR
ARTMINYUM BIOCLİMATIC SYSTEMS COMMON ACCESSORIES

(CASTOR GOLD,VEGA SILVER,CAPELLA,DIAMOND)

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

BİO-6
-

AYAK ÜST BAĞLANTI APARATI(BOYANABİLİR)
PILLAR TOP CONNECTION APPARATUS(PAINTABLE)

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KÖŞE ÜST KAPAĞI
CORNER TOP COVER

BİO-9
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE- -

BİO-67

ORTA BİRLEŞİM KÖŞE APARATI 
MIDDLE CONNECTION CORNER APPARATUS

BİO-68

-

BİO-70

ORTA BİRLEŞİM PROFİL BAĞLANTI APARATI
MIDDLE CONNECTION PROFILE CONNECTION 
APPARATUS

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

11

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

M8x12 INBUS CIVATA
M8x12 INBUS BOLT

BİO-15
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

YHB 4,8x38 VİDA
YHB 4,8x38 SCREW

BİO-11
-

YSB SV 4,8x32 VİDA
YSB SV 4,8x32 SCREW

BİO-12
-

HB 08x35 CIVATA
HB 08x35 BOLT

BİO-13
-

M6x30 INBUS CIVATA
M6x30 INBUS BOLT

BİO-14
-

KOD / CODE

ADET / PİECE

M8 25x25 LAMA
M8 25x25 LAMA

BİO-10
-

KOD / CODE

ADET / PİECE -

RTS-İO-KM1-5

KUMANDA
REMOTE CONTROL

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE-

BİO-35

DİFÜZÖR KAPAĞI
LED LIGHTING COVER

T10-16mm TRİGER KAYIŞ
T10-16mm TIMING BELT

PRG-105
- -

PAL-145

İZOLELİ LED GÜNIŞIĞI
ISOLATED LED DAYLIGHT

-

KIS-08Y

75 LİK SÜZGEÇLİ SU GİDERİ
75 MM  WATER DRAINAGE WITH SIEVE

KOD / CODE

ADET / PİECE

PANEL FİTİLİ
PANEL WICK

BİO-25
-

KOD / CODE

ADET / PİECE -

ROLL-24

LED KÖŞE PLASTİĞİ 
LED CORNER PLASTIC

-

BİO-19

OLUK CONTASI / SAĞ
GUTTER  GASKET / RIGHT

OLUK CONTASI / SOL
GUTTER GASKET / LEFT

BİO-20
-

BİO-7
-

YAN DİKME İÇ KÖŞE BAĞLANTI(BOYANABİLİR
SIDE BEAM INTER CORNER CONNECTION(PAINTED)

BİO-8
-

YAN DİKME DIŞ KÖŞE KAPAĞI(BOYANABİLİR)
SIDE BEAM OUT CORNER COVER(PAINTED)

BİO-72
-

GİZLİ DUVAR BAĞLANTI APARATI
HIDDEN WALL CONNECTION APPARATUS

BİO-73
-

DUVAR BAĞLANTI APARATI
WALL CONNECTION APPARATUS

-

BİO-71

DÖRTLÜ SİSTEM AYAK ÜST BAĞLANTI APARATI
QUAD SYSTEM PILLAR TOP CONNECTION PLATE

DÖRTLÜ SİSTEM AYAK KÖŞE BAĞLANTI APARATI
QUAD SYSTEM PILLAR CORNER CONNECTION BRACKET

ALT DUVAR BAĞLANTI APARATI
LOWER WALL CONNECTİON APPARATUS

BİO-74
-

DÖRTLÜ ŞASE İKİLİ PROFİL UÇ KAPAMA SACI 
QUAD CHASSIS BINARY PROFILE END CLOSURE PLATE

BİO-75
-

-

BİO-18

GİZLİ YER BAĞLANTI APARATI
HIDDEN PLACE CONNECTION APPARATUS



KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

12

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

BİO-1
-

MAKASLI RAY TAKIMI
SCISSORS RAIL SET

BİO-2
-

MAKASLI MOTOR TAKIMI
SCISSORS MOTOR SET

BİO-3
-

MAKASLI TEKER TAKIMI
SCISSORS WHEEL SET

UZUN MAKAS LAMASI
LONG SCISSORS LAMA 

BİO-21
-

KISA MAKAS LAMASI
SHORT SCISSORS LAMA

BİO-22
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

PANEL KAPAĞI SAĞ
PANEL COVER RIGHT

BİO-4
-

PANEL KAPAĞI SOL
PANEL COVER LEFT

BİO-5
-

KIL FIRÇA
BRUSH

BİO-24
-

KOD / CODE

ADET / PİECE

-

BİO-31

MOTOR KUTUSU ŞAFT
MOTOR BOX SHAFT

CASTOR GOLD(MAKASLI) SİSTEM AKSESUARLARI
CASTOR GOLD(SCISSORS) SYSTEM ACCESSORIES

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE -

GYT-26-1

GİYOTİN SOMFY MOTOR APARATI
GUILLOTINE SOMFY MOTOR APPARATUS

OLUK FİTİLİ
GUTTER GASKET

BİO-26

-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

TUBULAR MOTOR
TUBULAR MOTOR

RTS-120 İO-120

-

KOD / CODE

ADET / PİECE
PAL-140

-

SOMFY MOTOR BRAKETİ
SOMFY MOTOR BRACKET

-

BİO-32

AYDINLATMA KUTUSU 
SOMFY(TRAFO+DIMMER)
LIGHTING BOX SOMFY(TRANSFORMER-
DIMMER)

-

BİO-33

AYDINLATMA ÜNİTESİ GÜNIŞIĞI
(TRAFO+DIMMER+KUMANDA)
LIGHTING UNIT DAYLIGHT
(TRANSFORMER+DIMMER+CONTROL)

-

BİO-34

AYDINLATMA KUTUSU RGB(TRAFO-
RGB DİMMER+KUMANDA)
LIGHTING BOX RGB(TRANSFORMER-RGB 
DIMMER+CONTROLLER)

MAKAS SEGMANI
SCISSORS RING

BİO-27
- -

BİO-28

YSB 3,9x16 VİDA
YSB 3,9x16 SCREW

-

BİO-29

M8x16 AKB CIVATA
M8x16 AKB BOLT

-

PRG-151

MOTOR SWITCH BİLEZİĞİ
MOTOR SWITCH RING



KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

PANEL KAPAĞI - SOL
PANEL COVER - LEFT

VEGA SILVER(TİLTLİ) SİSTEM AKSESUARLARI
VEGA SILVER(TILT) SYSTEM ACCESSORIES

13

PANEL KAPAĞI - SAĞ
PANEL COVER - RIGHT

MOTOR
GRUBU

KOD:BİO-36

MOTOR
 SET

CODE:BİO-36

PANEL TAHRİK 
GRUBU

KOD:BİO-37

PANEL DRIVE 
SET

CODE:BİO-37

VEGA SILVER
AKSESUARLARI

VEGA  SILVER
ACCESSORIES

BİO-38
-

BİO-39
-

KOD / CODE

ADET / PİECE

M8 PUL
M8 WASHER

BİO-42
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

M8x20 İNBUS CIVATA
M8x20 INBUS BOLT

BİO-41
-

KOD / CODE

ADET / PİECE
BİO-43

-

MOTOR PANEL MİLİ
MOTOR PANEL SHAFT

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE -

BİO-62

TİLT KONTROL ÜNİTESİ SOMFY 
UYUMLU(TRAFO+DIMMER)
TILT CONTROL UNIT COMPATIBLE WITH 
SOMFY (TRANSFORMER + DIMMER)

-

BİO-63

TİLT KONTROL ÜNİTESİ ÜNİVERSAL
(TRAFO+DIMMER+KUMANDA)
UNIVERSAL TILT CONTROL UNIT 
(TRANSFORMER + DIMMER + REMOTE 
CONTROL)

-

BİO-64

TİLT KONTROL ÜNİTESİ RGB(TRAFO-
RGB DİMMER+KUMANDA)
RGB TILT CONTROL UNIT (TRANSFORMER 
- RGB DIMMER + REMOTE CONTROL)

OLUK FİTİLİ
GUTTER GASKET

BİO-26
-



ADET / PİECE ADET / PİECE

14

CAPELLA 
AKSESUAR SETİ     

KOD:BİO-50
CAPELLA 

ACCESSORY SET
CODE:BİO-50

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODEBİO-1
1

MAKASLI RAY TAKIMI
SCISSORS RAIL SET

ŞANZIMANLI MOTOR TAKIMI
SHAFT MOTOR SET

PANEL KAPAĞI SAĞ
PANEL COVER RIGHT

PANEL KAPAĞI SOL
PANEL COVER LEFT

KIL FIRÇA
BRUSH

BİO-24
-

-

-

YSB 3,9x16 VİDA
YSB 3,9x16 SCREW

-

-

M8x16 AKB CIVATA
M8x16 AKB BOLT

-

BİO-31

MOTOR KUTUSU ŞAFT
MOTOR BOX SHAFT

ŞANZIMAN
TRANSMISSION

BİO-43
-

DİŞLİ KUTUSU
GEAR BOX

BİO-44
-

HAREKETLİ OLUK YAYI
MOVABLE GUTTER SPRING

BİO-46
- -

BİO-47

-

BİO-48

-

BİO-49

ALTI KÖŞE MİL
HEX SHAFT

-

-

M6x16 INBUS CIVATA
M6x16 INBUS BOLT

-

-

3,9x13 AKILLI VİDA
3,9x13 SELF DRILLING SCREW

-

BİO-45

ŞAFT MİLİ KARŞI YATAK BAĞLAMA APARATI
SHAFT COUPLING APPARATUS

CAPELLA(ŞANZIMANLI) SİSTEM AKSESUARLARI
CAPELLA(WITH TRANSMISSION) SYSTEM PROFILES

BİO-42
-



DIAMOND(C-KANALLI) SİSTEM AKSESUARLARI
DIAMOND(C-CHANNEL) SYSTEM ACCESSORIES

15

DIAMOND 
AKSESUARLARI

DIAMOND
ACCESSORIES

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

PİSTON MOTOR GRUBU 
PISTON MOTOR SET

BİO-44
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

PANEL KAPAĞI - SOL
PANEL COVER - LEFT

PANEL KAPAĞI - SAĞ
PANEL COVER - RIGHT

BİO-48
-

BİO-49
-

KOD / CODE

ADET / PİECE

Ø36 RULMANLI TEKER
Ø36 BEARING WHEEL

BİO-51
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

PANEL PİMİ
PANEL PIN

BİO-50
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

MOTOR GRUBU 
MOTOR SET

BİO-45
-

KOD / CODE

ADET / PİECE

RAY TEKER GRUBU 
RAIL WHEEL SET

BİO-46
-

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE

KOD / CODE

ADET / PİECE
BİO-58

-

KOD / CODE

ADET / PİECE

M8x20 İNBUS CIVATA
M8x20 INBUS BOLT

BİO-54
-

C KANAL OLUK FİTİLİ
C-CHANNEL GASKET

BİO-47
-

KOD / CODE

ADET / PİECE

MOTOR
MOTOR

RTS-İO 85-120NM

-

BİO-57
-

BİO-59
-

MAFSAL LAMASI
HINGE LEAF

M10 MAFSAL CIVATASI
M10 HINGE BOLT

PAL-149

5MM İZOLELİ ÇELİK HALAT
5MM INSULATED STEEL ROPE

BİO-52
-

BOMBE BAŞ M6x20 CIVATA
BOMB HEAD M6X20 BOLT

-

PAL-111

M6x12 SETSKUR
M6x12 SETSCREW

KOD / CODE

ADET / PİECE
BİO-53

-

M6 PUL
M6 WASHER

BİO-55
-

M8 PUL
M8 WASHER

PAL-140
-

SOMFY MOTOR BRAKETİ
SOMFY MOTOR BRACKET

PRG-18
-

MOTOR DİP PLASTİĞİ MOTOR BORU APARATI
MOTOR BOTTOM PLASTIC MOTOR PIPE ADAPTER

-

BİO-61

C-KANAL KONTROL ÜNİTESİ SOMFY 
UYUMLU(TRAFO+DIMMER)
C-CHANNEL CONTROL UNIT COMPATIBLE 
WITH SOMFY (TRANSFORMER + DIMMER)

-

BİO-65

C-KANAL KONTROL ÜNİTESİ ÜNİVERSAL
(TRAFO+DIMMER+KUMANDA)
UNIVERSAL C-CHANNEL CONTROL UNIT 
(TRANSFORMER + DIMMER + REMOTE 
CONTROL)

-

BİO-66

C-KANAL KONTROL ÜNİTESİ SOMFY 
UYUMLU RGB(TRAFO-RGB DİMMER 
+KUMANDA)
C-CHANNEL CONTROL UNIT COMPATIBLE 
WITH SOMFY RGB (TRANSFORMER-RGB 
DIMMER + REMOTE CONTROL)

17x17 M10 KAYNAK SOMUNU
17x17 M10 WELD NUT

BİO-60

ÇELİK TEL MAFSALI
STEEL WIRE HINGE

BİO-56
-

14LÜK MİL SEGMANI 
14 MM SHAFT RING



16



17








